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FOHFZHOIELZ 66,972 67,887 A915
DIAHE MHIA X 66,972 67,887 2915
101 Ql244| 7,007 10,122 23,115
04 JI2ZtMZ2=e s 7,007 10,122 A3,115
O=X3& 7,007
— ol 35,310 = 1 = 180 6,356
—2&8z 6,356,000 * 10.24% 651
201 2EtE3F| 10,775 11,775 A 1,000
01 AtSR2t2ldl 5,740 6,740 A 1,000
Ogt=ZH| 5,740
—olE FXEL 2 2T
100,000 * 694 * 24Xt 1,200
—HEZL=E EAMSXK
18,000 = 54Xt * 123 1,080
—XN2MHI| 2 50,000 * 44 200
-y TN 2L 350,000 * 43| 1,400
— LS E MAQIM 33 x 3,0000f = 155 1,485
— 015D 22| 125,000 * 33| 375
02 222ZH| 5,035 5,085 0
O322= ¥ HA 5,035
—ORENE $E2Hea 5,035
2 ot 220 * 3,0000H 660
= 1,750 = 2,50001 4,375
203 ¥R F&d| 2,000 0 2,000
03 AIMFEZRFEH| 2,000 0 2,000
OHay U QIAMIHANHA =& 2,000,000 2,000
204 XA H| 1,200 0 1,200
03 SEIRZYI 1,200 0 1,200
ONSRgE32 100,000 » 19 = 12& 1,200
301 YetE A= 45,990 45,990 0
05 E-2-Eas2a83 45,990 45,990 0
Ocl gt &&=l 45,990
—cl| & 42,640
2= 200,000 = 13"  12& 31,200
= 200,000 * 13Y¥ * 23] 5,200
S| E A E
20,000 = 13¥ = 23| » 12& 6,240
—BtE 3,350
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=R
el HAR2 (etel: =3
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
- EE2(HAT) 500,000 * 1CH 500
— X HIIEA =2 50,000 * 4CH 200
—HUAE &I RS 200,000 = 12& 2,400
—&EAN HI| 23 1,000,000 =* 128 12,000
—ZA ot 23 100,000 * 12& 1,200
—&A BEMN REE= 175,000 * 23l 350
— X 2ZOE 23 50,000 = 200 * 23] 200
Ozl 56,000
—H Attt 8,000,000 8,000
—S3013H o4 3,000,000 3,000
—=Xl3 = 45,000,000 45,000
OAl & &EHI=XIHl 34,054
—EALE - 2D & 02 sA2tel
100,000 * 6CH 600
—HMIZAE =X 2 187,000 = 12& 2,244
=02 ==cl 25,000  4CH 100
—24= =X 8,860
- A 2,500,000 2,500
- ZHOHQI HoJAlE & X 2,700,000 2,700
- =SXlg 2 1,500,000 1,500
- SXE2 AYAIZFEAHI(1,020m)
1,000,000 1,000
- =X 20183 80,000 » 123 960
S SUA=" B} 200,000 200
—XHYMLSRAX (2013 HA) R ES
75,000 * 3090 & 2,250
—SSsEASE |2 20,000,000 20,000
OXtete gth| 22,559
—AESE 4,500,000 = 2CH 9,000
—AEot= 5,253,000 = 1CH 5,253
—HAX 8,306,000 = 1CH 8,306
401 A EHIL 201 4,000 5,000 A 1,000
01 Al&HI 4,000 5,000 21,000
OHMgel Sdgort & X SN2
4,000,000 4,000
405 AHoHESHI 250 4,880 24,630
01 HARESFSH 250 4,880 24,630
OOl H&ED wH 250,000 * 14 250
A2 XS A2 OH 353,000 312,000 41,000
Fo=Eola 353,000 312,000 41,000
A2 MEEHOAS 212,000 172,000 40,000
401 A &HIL 204 162,000 122,000 40,000
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AR SASONE
TS HHA CEREE
A X ZH . Clol (S HEAY . HA= Al OH HEE Hlm =2+
01 Al&H] 160,000 120,000 40,000
OAFRDMETHAAIA (2H) 160,000,000 160,000
03 Al&=20HH| 2,000 2,000 0
OARDMEHAUAY (2H) 2,000,000 2,000
402 BIZHR=0|A 50,000 50,000 0
01 QI2tR=2EX 50,000 50,000 0
OARDMETAAIA(2H) 50,000,000 50,000
ZEH| 20,000 54,000 234,000
401 Al&HI LY 20,000 54,000 234,000
01 Al&H] 20,000 54,000 A 34,000
OZMi2el EHYUe| XY 24X 2 AHL=40)
20,000,000 20,000
242 FH 121,000 86,000 35,000
401 Al&HI LS 121,000 86,000 35,000
01 Al&H] 121,000 86,000 35,000
O=S2=12F=8A Y =23 U2 AHL=70m)
16,000,000 16,000
O=2=22 MEMESE 2HAXZAHL=25m)
20,000,000 20,000
Ostetiel 228 =24 X2 AHL=50m)
13,000,000 13,000
Ostetoe] o2 2 HIHA X2 AHL=25m)
20,000,000 20,000
OZ0i12l HEeEng 24238412 AHL=60m)
12,000,000 12,000
OEe| DA A X2 AHL=26m)
20,000,000 20,000
OMdel HURZ2 =2 38|33 AHL=100m)
20,000,000 20,000
HESAAH|(2H) 74,528 74,706 A178
Jl2dd(2Y) 74,528 63,306 11,222
Jl=AH| 74,528 63,306 11,222
201 LEt2HH| 44,888 44,838 50
01 AtRZ2lH] 44,888 44,838 50
O Bta=2H| 16,838
—=2AM2X7Y 18,000 * 8AIXt  12& 1,728
—JI2AIRE2EH 90,000 * 15H 1,350
—2EdHA== 150,000 * 43 600
—=2 A2 200,000 * 2CH * 33 1,200
—=2AD], Z2H, EUAZEE
175,000 * 20CH *23] 7,000
—gAA FRAFAY, HE 125,000 * 43| 500
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